3. [Multiplication / Division]

Skill 3.1

Find identical groups.
Count the number of identical groups.

Recognising and counting groups of equal humbers of objects.

Q. How many groups of 3 snails?

@, @
@ e, @D
@F  @F

a) How many groups of 4 balls?

4

c) How many groups of 3 rockets?

AR ARA als

L L N HN
J0 us
I Y

e) How many groups of 6 stars?

*okk  hkk hokok
*kk  Kkk kkok

*okk  Khkk hokok
*okk  Kkk kkok

=T |
=T |
>

g) How many groups of 3 birds?
0 SR S S
%}}4 Y {‘!( %&}4

) S

b) How many groups of 3 scissors?

iy YIT ¥y

d) How many groups of 4 mouths?

44 4 4 &
44 4 4 44

44 4 4
44 44

f) How many groups of 3 bugs?

h) How many groups of 6 chickens?

LA A N A A -
¥y ¥y
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Skill 3.2  Counting equal groups and objects in a group (1).

*  Count the number of groups.
*  Count the number of objects in each group.

Q. Fill in the gaps. A. 4 groups of 9 blocks =

bbb A

groups of blocks = ® ©) ©) @

There are 4 groups.

blocks Each group has 9 blocks.
a) Fill in the gaps. b) Fill inthe gaps.
D>
G
groups of 8 | slices = groups of pencils =
24 slices pencils
c) Fill inthe gaps. d) Fill in the gaps.

groups of stacks = groups of peas =
stacks peas
e) Fill inthe gaps. f) Fill in the gaps.
groups of sails = groups of toes =
sails toes
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Skill 3.2
g) Fill inthe gaps.

groups of blades =
blades
i) Fill inthe gaps.
o® . o® - » »
;:)(o @ :jJ(o :5;0
groups of paints =
paints
k) Fill inthe gaps.
groups of pricks =
bricks

m) Fill inthe gaps.

RO R

groups of

keys =

keys

Counting equal groups and objects in a group (2).

h) Fill inthe gaps.

G S o
G G G

lenses =

groups of

lenses

j) Fill in the gaps.

groups of

) Fill in the gaps.

groups of pooks =
pbooks

n) Fill inthe gaps.

groups of legs =

legs
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Skill 3.3  Multiplying the numbers from 1 to 10 by using arrays (1).

*  Count the total number of shapes in the array.
OR
* Use counting by the number of rows or by the number of columns.

Q. Complete the multiplication. A. 3x8=24
00000000 3rowsof 8 =3x8 =24 or
0000000 8 columns of 3 =8 x 3 =24
00000000 ?ws_m

_ ount by >5s €1g 1mes:
J rows of § = 3,6,9,12,15,18,21,24
X = .
8 times

a) Complete the multiplication. b) Complete the multiplication.
00 00000
00 000000

000000
2rows of 3 = 3rows of 6 =
2x3=| 6 3x6=

c) Complete the multiplication. d) Complete the multiplication.
00000 0000000
00000 0000000
00000 0000000
00000 0000000

Arows of & = drowsof 7 =
4dxd= 4x]=

e) Complete the multiplication. f) Complete the multiplication.
000000 0000000
000000 0000000
00000 0000000
000000 0000000
00000 0000000

S5rows of 6 = Srows of 7 =
X = X =
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Skill 3.3

g) Complete the multiplication.

2rows of 5 =

X =

i) Complete the multiplication.

3rows of 9 =

X =

k) Complete the multiplication.

9000
09000
0000
3rows of 4 =
X =

m) Complete the multiplication.

2Tows of 6 =

X =

B

Multiplying the numbers from 1 to 10 by using arrays (2).

h) Complete the multiplication.

3 rows of 7

X =

j) Complete the multiplication.

000000
o
o
o

4

rows of 6 =

X

I) Complete the multiplication.

X
I

n) Complete the multiplication.
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Skill 3.3

0)

q)

Complete the multiplication.

4 x4 =

Complete the multiplication.

3x 10 =

Complete the multiplication.
EEEEEEEERN

Complete the multiplication.

X 3 =

Complete the multiplication.

x / =

Multiplying the numbers from 1 to 10 by using arrays (3).

P)

t)

Complete the multiplication.

4x5=

Complete the multiplication.

2x9=

Complete the multiplication.

Complete the multiplication.

2 % =

Complete the multiplication.

x 10 =
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Skill 3.3

y)

A)

C)

E)

Complete the multiplication.

x 9 =

Complete the multiplication.

b x =

Complete the multiplication.

8 x =

Complete the multiplication.

x 10 =

z)

B)

D)

F)

Multiplying the numbers from 1 to 10 by using arrays (4).

Complete the multiplication.

5 x =

Complete the multiplication.

x 8 =

Complete the multiplication.

x 9 =

Complete the multiplication.

5 % =
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Skill 3.4  Multiplying the numbers from 1 to 10 by using repetitive 1
addition (1).

Repetitive addition Multiplication

* Add the numbers in the repetitive *  Count the number of objects.

addition. * Add the number of parts of each object, the

number of times needed.
Hint:  Multiplication is a shortcut to repetitive addition.

A 4d+4+4+4+4+4=24
6x4=24

A+d+4+44+44+4=

4+4+4+4+4+4

6 X 4 — 6 times
—6x4=24

8+8=

dx 6= 2x%x8=

page 54 www.mathsmate.co.nz © Maths Mate 2.2/3.1 Skill Builder 3




Skill 3.4  Multiplying the numbers from 1 to 10 by using repetitive 1 i
addition (2).
9’ EIL A
B | g o | =] ‘ ﬁ‘ © I e e o0
- - = = A @ 0 . Wy VY N, ® - 0O
I EIE Sl Wy g, D o B
4 lyy3l ‘b !l.‘f
{;
3J+3+3+3+3+3+3= 6+6+6+06=

/ x 3=

4x6=

b+6+6=

k)

10+10+ 10 =

3x 10=

m)

O+0+56+6=

4dxb=

1)

J+3+3=
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Skill 3.5  Doubling a number.

* Draw the same number of objects next to the given objects.
*  Count the total number of objects.

OR
e Add the number to itself.

Q. Double this number of triangles A. 8
py first drawing them. A A AA
AA AA | AA
A A 4 doubled = 8
OR
2 x4
2x4 = Cded
=8
a) Double this number of stars by b) Double this number of hexagons
first drawing them. by first drawing them.
* * X X X X |
L X X X
2x1=| 2 2x9 =
c) Double this number of trapeziums d) Double this number of pentagons
py first drawing them. by first drawing them.
& A \ A A A A
\ A A 2 2
X = X =
e) Double 7. f) Double 8.
2%/ = 2% 8=
g) Double 6. h) Double 3.
X = X =
i) Double 10. i) Double 12
X = X =
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Skill 3.6  Multiplying by 10 and 100 by using base 10 blocks (1). B

By 10

e Count by 10s using base 10 blocks (1 x 10).

OR

* Add a zero to the end of the number that is
being multiplied by 10.

By 100

*  Count by 100s using base 10 blocks
(1 x 100).

OR

* Add two zeros to the end of the number
that is being multiplied by 100.

Q. Complete the multiplication.

HEEEEEEEEE|

HEEEEEEEEE)|

)
HEEEEEEEEE)|
HEEEEEREEE)|

HEEEEEEEEE)|
L
HEEEEEEEEE|

9% 10=

A. 90

Count by 10s nine times:

10, 20, 30, 40, 50, 60, 70, 80, 90
OR

9 x 10

= 90 - add a zero to the 9

a) Complete the multiplication.

4 lots of 10 =40

HEEEEEEEEE)|
HEEEEEEEEE)|
)

c) Complete the multiplication.

HEEEEEEEEE|

2 lots of 10 =

e) Complete the multiplication.

HEEEEEEEEE)

HEEEEEEEEE)|
|
HEEEEEEEEE)

HEEEEEEEEE)|
|
HEEEEEEEEE)

8x 10 =

b) Complete the multiplication.

5 lots of 10 =

HEEEEEREEE)|

HEEEEEEEEE)|

)
HEEEEEEEEE)|
HEEEEEREEE)|

d) Complete the multiplication.

HEEEEEEEEE)|
HEEEEEEEEE)|
HEEEEEREEE|
HEEEEEEEEE)|
HEEEEEREEE)|

)

6 lots of 10 =

f) Complete the multiplication.

HEEEEEEEEE)|
HEEEEEEEEE)

)
HEEEEEEEEE)

HEEEEEEEEE)|
)
HEEEEEEEEE)
)
)
HEEEEEEEEE)

o
X

O
I
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Skill 3.6

9)

k)

0)

q)

Complete the multiplication.

7 x 10 =

HEEEEEEEEE)
RN
HEEEEEEEEE)
HEEEEEEEEE)
IR
HEEEEEEEEE)
HEEEEEEEEE)

Complete the multiplication.

8 x 10 =

Complete the multiplication.

25 x 10 =

Complete the multiplication.

3x 100 =

Complete the multiplication.

2 x 100 =

Complete the multiplication.

9% 100 =

h)

)]

1)

p)

r)

Multiplying by 10 and 100 by using base 10 blocks (2). B

Complete the multiplication.

3x 10 =

IR
HEEEEEEEEE)
HEEEEEEEEE)

Complete the multiplication.

11x10=

Complete the multiplication.

33 x 10 =

Complete the multiplication.

11117
5x 100 =

Complete the multiplication.

EEEEEN |
6 x 100 =

Complete the multiplication.

12 x 100 =
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Skill 3.7  Multiplying the numbers from 1 to 10 by using multiplication 2
tables (1).

* Follow the shaded lines from the numbers to be multiplied, moving down and across.
* Read the number where the shaded lines meet.

O\
o

Q. Complete the multiplication. A.

4]5/6/7/8/9][10
3/4/5/6|7]8]9]10
8[1012|14)16] 18/ 20
912| 15| 18| 21] 24| 27|30
12| 16| 20) 24| 28| 32| 36 40
20| 25| 30|35/ 40/ 45|50
12| 18| 24) 30| 36| 42| 48| 54| 60
14|21| 28| 35 42| 49| 56 63| 70
16| 24|32/ 40| 48| 56| 64| 72| 80
1812736/ 45| 54| 63| 72|81/ 90 6X]O=

10|12| 14| 16| 18|20
12|15|18|21| 24|27\ 30
12|16|20|24| 28/ 32| 36|40
35|40| 45|50
12|18|24|30|36|42| 48| 54| 60
14|21\ 28 35|42|49|56|63|70
16|24| 32|40\ 48| 56|64|72|80
18|127|36|45)54|63|72| 81|90
70801901100

W 0N WN =X
WO NDD R WN| ==

-

(=)

-

(30

S

N

(5

8

WO IN OB WN =X
WI(NDD R WN| =
_

S
oy
Sl

—
=]
=
S
S
8
N
S
&
L=
%
\Q)

10(70/20/30140/'50760' 70| 80|90100

a) Complete the multiplication. b) Complete the multiplication.
x[1/2/3/4/5/6/7/8/9/10 x[(112/3/4/5/6|/7|8|9/|10
1(71213/4/5/6|7|8|9]|10 1(71213/4|5(6|7|8|9]|10
21214\6|8|10112|14|16|18|20 2|2|4|6(8|10/12|14|16| 18|20
3(3|6|9\121518)21|24|27\30 3(3/6|9/12/15/18\2124|2730
414)|8|12\16/20/24|28|32|36|40 414)|8|12|16|20|24|28|32|36|40,
515|10|15|20/25|30|35|40| 45|50 5(5|10/15/20(25|30|35|40| 45|50
6]6|72\18|24/30/36|42|48|54|60 6]6|1218|24|30\36|42|48|54|60
7117|14\21\28/35/42|49|56|63|70 1|714)21128|3542|49 56|63 70
8|8|16\24|3240/48|56|64|72|80 8| 8|16|24|32|40|48|56|64|72|80
9| 9|18|27|36| 45| 54|63|72|81/90 5><8= 40 9| 9|18|27|36|4554|63| 72|81/ 90 2X9=
10| 70/20|30)40|50|60|70|80|90(100 10| 70|20 30\ 40|50\ 60|70) 8090|100

c) Complete the multiplication. d) Complete the multiplication.

4]5]6]7/8]9]10
4156718910
8(10(12|14) 16 18/ 20
1215/ 18| 21/ 24/ 27/ 30
12| 16] 20| 24| 28 32| 3640
15|20/ 25|30 35/ 40|45 50
12| 18] 24| 30, 36| 42|48 54/ 60
1421/ 28|35 42| 49|56/ 63| 70
16| 24| 32| 40| 48/ 56| 64| 72| 80
18/27/36/45154(63|72/8190] & X Q=
3040/ 50/ 60|70/ 80/ 907104

4]5[6/7]8]9][10
4/5(6/78/9/10
810]12]14)16] 18|20
12| 15|18| 21| 24| 27|30
12| 16| 20| 24| 28 32| 36|40
30|35/ 40|45/ 50
12/118}24| 30 36 42| 48|54 60
14| 21 28 35| 42| 49| 56 63| 70
16| 24|32/ 40] 48 56| 64| 72| 80
182736/ 45|54/63 72)8190] ] % b =
30]40/50/60 70/80] 90110

© | w|w

W0 IN B WN =X
O (NS RN WN| =
_

(=)

-

o
N
S
N
(5
WO IN OB WN =X
OO NDS R WN| =
-

(=)

-
(=)
-
S
S
-
=)
-
S
N
S

e) Complete the multiplication. f) Complete the multiplication.

4/5/6/7]8]9]10
45678 9|10
8110121416/ 18/ 20
12/ 1518|2124/ 27/ 30
12| 16| 20| 24| 28/ 32| 36| 40
25/ 3035/ 40|45/ 50
12|18/ 24 30| 36/ 42| 48| 54/ 60
1421/ 28| 3542/ 49/ 56|63| 70
16124132, 40| 48| 56|64| 72| 80
18/27|36) 45|54|63| 72/ 8190 8 x 4 =
50| 60| 70|80/ 90}10d

4]5/6]7/8]9]10
41561218 9[10
810[12| 14|16/ 18 20
1215/ 18| 21| 24/ 27/ 30
12| 16| 20| 24| 28/ 32| 36| 40
15 20| 25| 30| 35| 40/ 45| 50
12| 18] 24| 30| 36| 42| 48| 54/ 60
14/2128/85/42149| 56| 63| 70
16| 24| 32| 40| 48| 56| 64| 72| 80
18127/36|4554/6372,81190| ] % ] =
30/ 40/ 50/60|70/ 80/ 90710

O Ww|lw

W0 N CRWN =X
W W NS RNWN|—|=
—

(=)

-~
o
N
S
OO NGO RWN =X
OO N DR WN ==
-

(=)

-
(=)
-
(=)
S
W
S
E
S
-
=]
-
S
N
S
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Skill 3.7  Multiplying the numbers from 1 to 10 by using multiplication 2
tables (2).
g) Complete the multiplication. h) Complete the multiplication.
3 5678|910

4/5/6/7/8/9/10
41506[7]819]10
8110|12| 14| 16| 18|20
12|15/ 18| 21| 24| 27|30
12|16|20| 24| 28| 32| 36| 40
30|35/ 40| 45| 50
12| 18| 24| 30| 36| 42| 48| 54|60
14| 21| 28|35/ 42| 49| 56|63| 70
16| 24| 32| 40| 48| 56| 64| 72|80
1827/ 36|45|54|63| 72| 81| 90 5 X 9 =
60| 70| 80| 90}100

I
314\/5/6|7|8|9]|10

8110\12\14|16| 18|20
9112\15|18|21|24|27\30
12|16\20|24| 28| 32| 36|40
20125130 35|40\ 45|50
12| 18| 24| 30|36|42| 48| 54|60
14|21)28|35|42|49|56 63|70
16| 24)32|40|48|56|64|72|80
18127)36|4554|63|72|81|90 5xé_
40)50/60|70(80(90/100

OO IN G EWN =X
O RND RN QN |=
-

S
-

(5]

o N aaw N =X
©| DN DG [W[N =
B
S
|
=
8
N
[

—
(=]
-
(=)
N
S
W
S
-
(=]
-
(=)
S
8
N
S
1<
S

i) Complete the multiplication. j) Complete the multiplication.
2/3/4/5/6/7/8|9/10 2/3/4/5/6/7/8/9/10
21314\/5/6(7|8/(9]10 21314\/5(6|7/8/9]|10
416|8|10(12\14|16|18|20 4168\10(12|1416| 18|20
GURGI2| 150181211 24| 27|30 619\12\1518|21|24|27\30
8112\16|20|24|28)32\ 36|40 8112)16\20|24| 2832\ 36|40

20| 25| 30| 35| 40| 45|50
12| 18| 24| 30| 36| 42| 48| 54|60
14211 28| 35| 42| 49| 56/ 63] 70
16| 24|32| 40| 48| 56| 64] 72| 80
18/27,36|45|54 63 72)81)90] @ ¢ 3 —
40/50] 60/ 70|80/ 90100

20|25/ 30| 35| 40| 45/ 50
12| 18| 24| 30/ 36| 42| 48| 54|60
14 21| 28| 35| 42| 49| 56| 63| 70
16] 24| 32|40/ 48| 56| 64| 72| 80
18 27| 36| 45|54|63| 72| 81|90 3 X /] =
20|30| 40/ 50| 60| 70| 80| 90]10d

OO IN O CBWN =X
O RVNDD AN QN |=
—
=)

-~
o
OO IN O R WN =X
O (NN QN |-
-
=)

-~
<

-
(=)
-
S
=
=)
-
S
S
8

k) Complete the multiplication. ) Complete the multiplication.
2/3/4/5/6/7/8/9/10 2/3/4/5/6/78/9/|10
213/4\/5/6|78|9]|10 213\/4\5|6(7|8|9]|10
416|8|10/12\14|16|18)20 416|8|10/12/14|16|18/20
61912\151821\24\27\30 619\12|1518|21|24|2730
8 8

12|16/ 20/ 24| 28/ 32| 36| 40
20|25/ 30|35 40/ 45|50
12| 18| 24| 30/ 36| 42| 48| 54|60
14|21/ 28| 35/ 42| 49| 56| 63| 70
16] 24/ 32|40/ 48/ 56|64] 72 80
1827/ 36/ 45| 54|63|72|81|90 8 % 8 —
40[50/60] 70/ 80/ 907100

12| 16| 20| 24| 28/ 32| 36| 40
20| 25| 30/ 35|40| 45| 50
12|18/ 24/ 30/ 36| 42| 48| 54|60
1412112835142 49| 56|63| 70
16| 24/ 32| 40| 48/ 56|64| 72| 80
18/27|36] 45|54|63| 72|81/ 90 é X ] =
40|50/ 60|70/ 80/ 90110

WO IN OB WN =X
O N DR QN |=
—

S
-~
o
OO IN O CRWN =X
OV N (DR WIN ==
-
=)

-~
il

-
=]
-
(=)
N
S
W
S
-
=]
-
(=)
S
8

m) Complete the multiplication. n) Complete the multiplication.
2/3/4/5/6/7/8|9|10 2(3/4/5/6/7|8(9/|10
213/4\/5/6|7,8|9]|10 2131415/6/78|9]|10
416|8|1012/14\16|18)20 416|8|10/1214|16|18|20
6|9|12\1518|21|24|27\30 619\12|1518|21|24|2730
8 8

12|16/ 20| 24| 28| 32| 36|40
20|25/ 30/ 35| 40| 45| 50
12 18| 24| 30| 36| 42| 48|54/ 60
1421 28/ 35|42/ 49)56| 63| 70
16| 2432/ 40|48/ 56| 64| 72|80
18j27364s\5ai68472(8190] Q) % 8 —
40/ 50|60| 70| 80| 9010

12|16/ 20/ 24| 28/ 32| 36/ 40
20| 25| 30| 35| 40| 45/ 50
12[18(24] 30| 36| 42| 48| 54|60
14 21| 28| 35|42/ 49| 56| 63| 70
16| 24| 32| 40| 48| 56| 64| 72| 80
1827|3645 54 63|72(81190] 3 % |() =
40/50] 60| 70|80/ 90100

0N OO RWN =X
O (NS RN WN| =
—
S
-
(5,0
W0 N CRWN =X
O NSDD RN DN ~|=
-
(=)
-
(S

—
=]
-
(=)
N
S
W
S
—
=)
-
(=)
S
S
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Skill 3.8  Modelling the commutative property for multiplication by using
arrays.

e Count the number of rows and the number of columns on both sides of the table.
Hint:  When multiplying two numbers, the order of the numbers can be reversed.

Q. EEEEER EER A 3x6=6x3
EEEEER EEN
EENEEEN N 3 rows, 6 columns =3x6=18
=== 6 rows, 3 columns =6x3=18
EEN Equal number in array = same result
3 x =6x3
a) EEEE HE b) EEEEN EEEN
EEEN [ J EEEEN EEEE
EHE EEEEN EEEN
EE EEEEN EEEE
EEEE
2x| 4 | =4x?2 4xb5= x 4
c) HEEN EEEREEEERN d) EEEEEER EEER
HEEN EEEEEEER EEEEEER EEEE
EERR EEEEEEER EEEEEEE EEEE
- EEEEEEE| EEEE
EEE EEEN
EEE EEEE
EEE EEEE
8 x =3x8 4x7] = x 4
e) EEEEER EEER f) [ J EEEERER
EEEEER EEER HE EEEERERN
EEEEER EEER EE
EEEEER EEENE EE
EEENE HE
EEER EE
4 x =6x4 X2=2x
g) EEEEEEERN EEER h) EEEEEEN EEEEEERN
EEEEEEER EEER EEEEEEN EEEEEERRN
EEEEEEER EEER EEEEEEN EEEEEERRN
EEEEEEER EEER EEEEEEN EEEEEERRN
EEER EEEEEEN EEEEEEER
EEER EEEEEEN EEEEEEER
EEER EEEEEEN EEEEEEER
EEER EEEEEEN
4 x = x 4 x/=7x
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Skill 3.9

* Find the total number of tens by counting the base 10 blocks (1 x 10).
*  Find the total number of units by counting the base 10 blocks (1 x 1).

Modelling multiplication of humbers greater than 12 by a single 3|
digit, by using base 10 blocks.

* Add the results to complete the multiplication of the number greater than 12.

Q T moonEmeD A 3x10=30
mnnnnnnnni el el al el =l =l = 3x /=21
O oot b D 30+ 2] =517
3% 10 = 3x7 = Ix17=51
3x 17 =
a) uuuuuuuuuuuuE@@ b)uuuuuuuuuuuuEﬂjﬂj
o (00 om0
e N T o0
T ion o b
| uHHHHHUHHHHH;D@
4 x 20 = 4x2= O x 20 = Ox 2=
4 x 22 = O x 22 =
C)uuuuuuéﬂjﬂjﬂjﬂj Ol sunsssnunai el ol ol ol u) ol =
O 00 o bbb
T oo n oD oo ooon
' O oo
3x 10 = 3 x4 = 4x10= 4x7] =
3x 14 = 4dx1/=
e)uuuuuué@@@@@ f)uuuuuui@@@@@@
o bbb O oo
T oo |
3x 10 = 3x 5= 2x 10 = 2x6=
3x 15 = 2x16=
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Skill 3.10 Dividing objects into equal groups (1).

* Try different ways to arrange the objects into equal groups.
*  Count the number of objects in each group.

Q. Circle to divide 8 pipes into A 4
coch gran ofel A4
o & o g & o
/ / / / Group 1 Group 2

a) Circle to divide 156 candles into b) Circle to divide 12 crowns into

5 equal groups. How many n 2 equal groups. How many in
each group? each group?
3
c) Circle to divide 9 books into d) Circle to divide 16 clubs into
3 equal groups. How many in 4 equal groups. How many in
each group? each group?

LD LD LD dbbhdbdbdbdbdbd

LD LD LD dbhdbdbdbdbdbd
LD LD LD

e) Circle to divide 18 butterflies into ) Circle to divide 14 leaves into

3 equal groups. How many in 2 equal groups. How many in

each group? each group?

W W W W W W %@%@%@%

W W W W W W

WWWMWMMWW
< © ©
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Skill 3.10 Dividing objects into equal groups (2).

g) Circle to divide 16 ducks into h) Circle to divide 156 cans into
2 equal groups. How many n 3 equal groups. How many n
each group? each group?

B B O o 3 O o
g g g g ;

i) Circle to divide 12 tennis balls j) Circle to divide 24 leaves into
(nto 3 equal groups. How many n 6 equal groups. How many n
each group? each group?

cococococo 27277~
COOCCOC ~#zeo22:

k) Circle to divide 6 bows into ) Circle to divide 12 prawns into
2 equal groups. How many n 6 equal groups. How many n
each group? eoch group?

\g

m) Circle to divide 12 pinwheels into  n) Circle to divide 12 envelopes into
4 equal groups. How many n 6 equal groups. How many n
each group? each group?

FEFFEFEYF
FEFERY
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Skill 3.11  Modeling division by arranging objects in equal groups,
by using pictures (1).

* Try different ways to arrange all the objects into equal groups.
e Count the number of objects in each group to complete the division.

Q. Circle to make 5 equal groups. A. 10 divided info 5 groups = 2
NN NN\ N\ i f\: 6\: 6\: 6\:
. 2@ i\@ i\g i\@ i\o)

10 divided into 5 groups = Group 1 Group 2 Group 3 Group 4 Group 5

a) Circle to make 4 equal groups. b) Circle to make 6 equal groups.

20 divided into 4 groups = | 5 12 divided into 6 groups =

c) Circle to make 7 equal groups. d) Circle to make 3 equal groups.

42 divided into 7 groups = 18 divided into 3 groups =
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Skill 3.11  Modeling division by arranging objects in equal groups,
by using pictures (2).

e) Circle to make 4 equal groups. f) Circle to make 5 equal groups.

O

(11111111 8888
(111171111 eeees
(111111111 ssees
i 83388

> >4 N A >4 >
: B . BU B BU 5 - - - -
A= A=) - A= o BE0EEO0 EEREO EEREO EEHRERO
- - - - - LREEE CIEGGEE
oEEEE opoEE opoEE opEEE
Y Y Y X Y - -— - -
EERED BEERO BEERO BEEEE0
QEEER BEEER
BEOREO HEOREO EOREO EOREO
aEpEE OEEoEE O@coEE onoEE
BEOEEO EEREO EEREO EDRERO
|m| ][] e oEoeE [m[@]a]s]e) [m[6]m (s e)

BERERO

EEEEE EEEEE

BOEED EOEECD BEOEECD EOEEC
[n[G[n[s]] oEEEE 0 oEEEa

156 divided into 3 groups = 16 divided into 4 groups =

i) Circle to make 4 equal groups. jy Circle to make 3 equal groups.

244644444
2464644444
2464644444

28 divided into 4 groups = 24 divided into 3 groups =
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Skill 3.12 Modeling division by arranging objects in equal groups,
by using arrays (1).

e Count the number of objects in each group to complete the division.

Q. A 21 +3=7

There are 7 dots in each group.

21 divided into 3 groups =
21 + 3 =

20 divided into 5 groups = 18 divided into 6 groups =
20-5=| 4 18 +6=

24 divided into 8 groups = 32 divided into 4 groups =
24 - 8 = 32 = 4 =

21 divided into 3 groups = 30 divided into 5 groups =
21 + 3= 30+ 5=

20 divided into 10 groups = 24 divided into 3 groups =
20+ 10= 24 + 3 =
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Skill 3.12 Modeling division by arranging objects in equal groups, 1
by using arrays (2).

i) )

36 divided into 3 groups = 40 divided into

k) ) )

42 divided into 6 groups = ‘36‘ dl‘vlded lhto 6 groups =

21 divided into 7 groups = 28 divided into 4 groups =

63 divided into 9 groups = 35 divided into 7 groups =
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Skill 3.13 Modeling division by the numbers from 1 to 10, by using 1 i
repetitive subtraction (1).

* |dentify the smaller number which is repeatedly subtracted from the bigger number.

e Count how many times the smaller number is subtracted, to complete the division.

OR

*  Count the number of equal groups containing a number of objects equal to the number
being subtracted.

\@5@3@3@3@3@34 30-6-6-6-6-6=0

) -

@ @ @ @ @ @ | 6 is subtracted repeatedly 5 times from
@@@@@@ 6 d1V1des exactly 5 times into 30.

30-6-6-6-6-6=0 OR
30+ 6= @@@@@@ Group 1

@@@@@@ Group 5

There are 5 groups of 6 balls.

%%%%%%%%% |
36-9-90-_090_0=0 21-7-7 -
36 +9 = 21
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Skill 3.13 Modeling division by the numbers from 1 to 10, by using
repetitive subtraction (2).

RRHRE

whabalahala

ahahalalalal

e) AE =
WY

30-10-10-10=0

18-6-6-6=0

30 + 10

18 + 6

Caj i Col
() (ol
Cuf Caf C
Cuj ) Cof
Caf Cal Col
Cuj Caf O
Gl () Cl

3@ 18 38
38 38 18
38138 18
: 9 p: |

12-3-3-3-3=0

21-3-3-3-3-3-3-3=0

12 +3

21 + 3

v v v v w

T v v w v

S A S ¢ v v v w

BLILIL M ¢ v w v v

A ME O EE

26-5-6-5-6-5=0

16-3-3-3-3-3=0

25+ 5

15+ 3
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Skill 3.14
groups, by using arrays (1).

Modeling division by arranging an equal number of objects into

*  Count the number of groups to complete the division.

Q.

* K ok K

24 divided

ik
i
%
¥
into g

roups of 4 =

24 = 4 =

PEIUE N

There are 6 groups of 4 objects.

30 divided into groups of 3 =

30+-3=10

rEEEEx?
' EEEx?
rEEEEx?
* %k k%

40 divided into groups of 10 =

40 + 10 =

¥ %k ok k%

36 divided into groups of 6 =

36 +6 =

10 divided into groups of 2 =
10+2=

d)

* ¥ |%k %
* ¥ |[%k ¥
* ¥ |%k %
X % X% %k

32 divided into groups of 4 =
32 +4 =

45 divided into groups of 9 =
45 + 9 =
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Skill 3.14 Modeling division by arranging an equal number of objects into 2
groups, by using arrays (2).

9)

4

(@D]
Q
=.
Q
D)
Q
=1
o
Q
-
o
-
°©
w
o
O
I
(@8]
O
Q
=.
Q
)
Q
=
=
o
Q
-
o
—
O
w
o
o}
O
I

21 divided into groups of 3 = 20 divided into groups of & =

* *[* *
* *[* *
' EIEE 2
* ¥k *

X ¥|% x

*
*
*
4:

4

(D)

divided into groups of 25 divided into groups of & =
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Skill 3.15 Modeling division by the numbers from 1 to 10, by using arrays
(1).

* Look at the number you divide by.
e Circle squares to make that number of equal groups.
*  Count the number of squares in each group to complete the division.

Q. Circle to complete the division. A 50+5=10
EEEEEEEEER \the number you divide by>
EEEEEEEEEN
EEEEEEEEEN
EEEEEEEEEN
EEEEEEEEEN

50=5=
There are 10 squares in each group.
a) Circle to complete the division. b) Circle to complete the division.
= EEEEN
EEEEN
EEEEN
EEEEN
30+6=| 5 20 + 4 =

c) Circle to complete the division. d) Circle to complete the division.
EEEEEEER EEEEEN
EEEEEEER EEEEEN
EEEEEEER EEEEEN
EEEEEEER EEEEEN
EEEEEEER EEEEEN

EEEEEN
40+ 5 = 36+ 6=

e) Circle to complete the division. f) Circle to complete the division.
EEEEEER EEEEEEEE
EEEEEER EEEEEEEE
EEEEEER EEEEEEEE
EEEEEER EEEEEEEE
EEEEEER EEEEEEEE
EEEEEER EEEEEEEE

42 + 7 = 48 + 6 =
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Skill 3.15 Modeling division by the numbers from 1 to 10, by using arrays

(2).

g) Circle to complete the division. h) Circle to complete the division.
EEEEEEEEER EEEEEER
EEEEEEEEER EEEEEER

20+2= 14 + 2=

i) Circle to complete the division. j) Circle to complete the division.
EEEEEN EEEEEEEN
EEEEEN EEEEEEEN
EEEEEN EEEEEEEN
EEEEEN EEEEEEEN

24 =+ 6 = 32 +4 =

k) Circle to complete the division. I) Circle to complete the division.
EEEEEEEEER EEEEEN
EEEEEEEEER EEEEEN
EEEEEEEEER EEEEEN
EEEEEEEEER EEEEEN
EEEEEEEEER EEEEEN

50+ 10 = 30+5=

m) Circle to complete the division. n) Circle to complete the division.
EEEEEEEER EEEEEEEEER
EEEEEEEER EEEEEEEEER
EEEEEEEER EEEEEEEEER

27 + 3 = 30+ 10 =

o) Circle to complete the division. p) Circle to complete the division.
EEEEEEEER EEEEEEEN
EEEEEEEER EEEEEEEN
EEEEEEEER EEEEEEEN
EEEEEEEER EEEEEEEN

36 +9 = 40 = 8 =
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Skill 3.15 Modeling division by the numbers from 1 to 10, by using arrays

(3)-

q) Circle to complete the division. r) Circle to complete the division.

48 = 4 =

s) Circle to complete the division. t)

18+2=

u) Circle to complete the division. v)

w) Circle to complete the division. X)

48 + 8 =

y) Circle to complete the division. 2)

44 + 11 =

35+5=

Circle to complete the division.

21 + 3 =

Circle to complete the division.

25 + 5=

Circle to complete the division.

49 = 7 =

Circle to complete the division.

36+ 12 =
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Skill 3.16 Modeling division by the numbers from 1 to 12 with remainder,
by using arrays.

* |dentify by what number you divide.
* Circle this number of dots to make as many equal groups as possible.
*  Count the number of equal groups to get the result of the division.
*  Count the number of left over dots to get the remainder of the division.
Q. A. 33+ 5=6remainder 3
( X )
33+5= remainder C X )
There are 6 groups of 5 dots.
a) g g g ){ ] b)
21 +2=|10| remainder| 1 18 +4 = remainder
c) d)
30+ 9= remainder 25+ 10 = remainder
e) f)
20+ 3= remainder 54 + 7 = remainder
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SKill 3.17 Relating multiplication and division facts by using arrays (1).

Array is divided into equal groups

* Notice the arrangement of numbers in both
the multiplication and division.

*  Count the dots in each group to complete

Array is not divided

Count the number of dots, rows and
columns in the array to complete the
multiplication and division number

the division. sentences.
O o om o m o B =35 A 5x7=35
=000 -0~ 7x5=35
MR R M X X X x5=35 35-5=7
XX MM X XX 35.7=-5
+0=/
There are 35 dots in the array,
35 = =5 5 rows and
7 columns.
790000000 " 90000
090000000 90000
90000
90000
2x8=16 4x5=20
16+2=| 8 20+4=
00 o0
00 o0
3x4=12 2x4=28
12+ 3= + 2=
" 90000
000000
b6x2=12
12+ 6=
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Relating multiplication and division facts by using arrays (2).

Skill 3.17

o4

6x9

|
& 3
DD = G = (= G = G = G = (D = (= {
D = G = (= G = G = G = (I = (= {
DD = G = (= G = G = G = (G = (= {
D = G = (= G = (D = G = (G = (= {

MO xR RN
MO xR RN

—_—
<

O
o
Il

x 3 =36

36 + 3

36 +

12 x

O R O xR R O X X
O R O xR R O X X
RO R R xR R O X X

—_
o

x 4 =24

X X
X X
X X
X X
X X
G-

=32

4 x

X X
X X
X X
X X

i)

O < O O <
I I R I
©° I I o
I o N
< X
X
<~ < X
(@N] <
X
X
X MO M M M M X
X MO M M M M X
o X O M M M M X
== O M M M M X
([@\] < (e @) (@D) Lo
o Lo
I I I
I o I
< (@D)
¥ i — I
X Lo
._. VA ._.
o~ © o
o Lo
O M M M M X
O M M M X O M M M M X
O M M M K MO M M M M X
O M M MK MO M M M M X
0 MO M M M M X

k)

(@) N~ (@8 o
I N I I
I o
om I i
(@)
J X J
O @ ~
o (@N
K
K MO M M M M M X
== 000000000
== 00000000 G-
c
o Lo Lo N~ Lo
— @ @ I I
I I TR
¥o) ¥o) +
- X
._.
X Lo
Lo o

-GG ¢ MO X X
X X X MO X X
X O X OO X X XX
X O X OO X X XX
X O X RO O X O X

E
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